
EXHIBIT 10.1.  Language Frames

Most Common Language Frame:

The _________ is _______.
The angle is obtuse.

Differentiated Language Frames:

I determined the ________ is ________because it measures _________.
I determined the angle is obtuse because it measures 100 degrees.

I think the ________ is _________ since __________________________.
I think the angle is obtuse since it measures more than 90 degrees.

Based on the _________ measurement of the angle, the given angle is 
_________.

Based on the 100-degree measurement of the angle, the given angle 
is obtuse.
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